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General Instructions:
1. All questions are compulsory.
z The question paper consists of 31 questions divided into four sections A, B, C and D.

Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

5 There is no overall choice in this question paper.

4, Use of calculator is not permitted.
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uvd WEm 194§ vl W i &

~  Question numbers 1 to 4 carry one [na\rk u.»ilch_ . L ’ )
¥ wufz 58 & =i aen T 6 TIH o fa =k

THRE x = —1 % T e ol s
How many solution(s) the equation x= —1 has, if itis treated as arlna_qt{atm-'}lm Tw variabies: o
%3 20§ @yar F EEEEe 3w w2 e w9 T A AR S RO
1 J > ~ R e - Tl -‘;" A
afmT‘%1ﬂﬁmﬁﬁmﬁ'#mﬁmmmﬂmﬁﬁﬁw- i fem = R

Fz[?—]C+32 | gfz AgEA —40°C ®, T
5 3 & t
i ' d in Fahrenheit, whereas
ountries temperature 15 measure .
Imn:ainl}ieg in Celsius. Here Is @ linear eguation that cenvers

F= (EJ C +32.Ifthe temperature
5

T fiter )
ngﬁwﬁlmaﬁﬁﬁﬂﬂWﬁ@Tm
Construct an actl te nngle and dmf its b;sTc !
1 % FER & s A & E 9 fafag

lumﬂ.

TR § amuE = e 2
in countnes like 'm:*.aa: '1_‘.
Fahrenheit to Ceisa

is — 40° C, then what is the temperature in Fahienneit 7

f8
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Match the gnen equations with lines * &, W and 'C- Also, find the area enclosed between

these lines. i
W{F}aﬁtmtc}wﬁﬂﬁﬁﬁ_ mﬁ%ﬂmﬁﬁﬂﬁch;:‘é
(F—32) e/ femr s 1 5@ g ), r_amvpﬁy_aﬂmcéamqmmﬁ@ ¥ = H Frefw
Fifaw @ &, ﬂﬁwﬁﬁwmﬂﬁmﬁw@ww%m%l T
Fahrenheit (F) and Celslus (C) are two diffarent units of temperatures and relation .
graph taking

them is given by €= 5 {F 32). Represent this jnformation in the form of a
which is equal to 30 degr

on x-axis and C on y-ax‘.ls. Also, find temperature, in Celsius,

Fahrenheit %
AL 1 T 19T, 92 = 4.5 cm, 21= 450 sy {I —H] =1.8cmEl

Construct AHIJ, if IJ = 4.5 cm, £1= 45° and 1] - H] =18 cm. ‘ _ Wy
mm%mﬂﬁt{ﬂ?imwﬁumm%fwbzl‘f%'Hbtﬂﬁ‘ﬂmm%

RF=SF#| iz % PERF TF WHi 9gi« ¢ iR ar(PERF) = gar{FQRS) €1

5 F R
Q
Ilj‘QRS isEa parallelogram. E is a point on PQ such that QE=2TE and F is a point on RE

that 2 RF=SF. Show that PERF is a parallelogram and ar(PERF)= — at(PQRS}

S F R
%ﬁéﬁﬁﬁ*%ﬂﬂﬁm%ﬁﬁﬁﬂﬁmﬁ*qum
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Question numbers 5 to 10 carry two marks each,

PQRS UF =1 &) fa=ol pr 3R QS WER O

ar (PQRS) 31 iy T ar{APOQ) = 4?8, 2
PORS is a square, Diagonals PR 4,4 B e
If ar (APOQ) is4 em?, find ar (PORS). & vrsect  each  other a1t O,
ﬁﬁmﬁ.amwwwtfﬂ*%ﬁm% T

|GA M ¥ 7T 2ABC=70° 3 LFAE=30° ,&JBCDW#EW'““‘ T BA RN paw 3

CD
is drawn parallel to CD and

In the given figure, ABCD is a cyclic qﬂﬂ':‘“lfﬂera! in which AR
BA is produced to F. If ZABC =707 and ZFAE=30%, fingq ey
I :

C~__p
W Wt arfias S e ) T Y e 9, T S g

Uraw any obtuse angle. Bisect it using t:fsm}‘_mss.
3T Fora 3.5 cm S ST 12 cm @16 F B Ot angmE el v 22

How much ice-cream can be put into a cone with base radius 3.5 cm and height 12 cm?

3 fo &) us Wy 250 AR ToTen W) §9 9O | g

[ w1 = we o [+ |2 |3 |

| ST 45 |65 |52 |88 |

wifeeral I FY

() e g s 2 e w

iy  wt famwra e &

Three coins are lossed simultaneously 250 times with the following frequencies of di
outcomes : =

[ Number of tails 10 1 2 (3 |

L'__Ij'_m]icpcy 45 65 |52 85 i

Compute the probability of petting :
(1) at most 2 heads

{li) a“hf‘ﬂdﬂ r -
Feeit e W & W T F AR T ) W %%!'ﬂﬁﬂﬁmﬂﬂﬁ}ﬁ%‘
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fig = siafia Fm & g e

Prave that the angle subtended by an arc of @ Circlo g "
by it at any point on the remaining part of the Clrcle, Centre jg double the angle subtended

T ST 15m x15m x?mﬂﬁﬂmmmm 1
7m %mmtlwWﬁ??SImaﬁrﬂHﬁ%@mlfq@W 75 cm Y1 TR
fa HR *F Fon F wzad W fem

|
(a) 2D srsrenad W glan gear w1 @H T iy,
(b)  frum = iy =2
&7 %ﬁ?ﬂﬁm k) ?qﬂwﬁw}

A farmer wants to di I ei he form of cyp;
g a well either in the Cuboida) sha m - s
a - pE uf 1‘5
cylindrical shape of radius 75 cm and helght 7 M. The ra. diggi S o
7 I88ing a well is ¥ 75/m?, The farme

decidad to dig cylindrical form of well, (Use 7= —:;-Il

(a) Calculate the cost to dig the well in both cases,

(b) By the decision what value Is depicted BY the farmer 7 (Use 5= :,

T R A g F o 7 m, TR S 44 om G 5 e 2 m 5
4 l m 1
VARE 3 4R T FATG ST 1 em? 9 R 1 3 ¥ o e

Find the inner curved surface area and weight of a lead pipe 7 m fong, if the external diamet
of the pipe is 4.4 cm and the thickness of the lead is 2 mm and 1 cubic cm of lead weighs '
grams,

W QA Ga ¥ umw & ol W10 FNER wis 8w frm omm, S b
10mx53mx3mel 3 w® ) fowet 4 2 ™ ofs faooe 9 w125 5 sl

&1 TET TG F I |

Bags containing rice were stacked in the shape of cuboidal blocks in an open field and th
blocks are covered with tarpaulin. If there were 10 blocks cach having dimensions 10 m
m x 3 m, then find the cost of tarpaulin used to cover these blocks at the rate of Rs. 125

=
7

mz*

U AT TEAV F STTER U el F w9 T ¥ de R ¢ 7}'\%06
. 06

i - ) | 54 271t s1fu ?“ f‘:{

!{aﬁﬁ') 14-23 [24-33 [34-43 |44-53 |54 /,q“é;)c

| IR | o 27 |8 |46 |3 R

{'FR?-'IT = '\

fz T R I TEoIAT A S, G WG J1 S 1 BRI i 3 - 1

(i) 44 78 T I AUF | '

(i) 43TATHE !

(i) %SSWﬂﬂﬁ%l

(iv) 54 § H ¥ 90T 34 T A1 IR arfipy 3

A recent survey found that the ages of workers in a factory s distributed as follows :

(Age (N1y4 53 |24.33 |34.43 |44.53 |54and more
llears) e |

No. offgg 27 86 3
Workers > :lf____
If a worker is selected at random, [_inm thabi]jt}r that the age of the worker is ;
f
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A dome of a building is i of a hemisphere :
T35 1 ot o e G 0 2 e et
i C volum

air inside the dome. (Take ™= -%,Z—J

ﬁmﬁzuﬁmﬁaﬁmﬁawmg:
375,415, 525, 275 g15, 720,, 1085, 717, 807, 780,315,380 417 45e 375, 223, 245, 255, 615, 57

A9 100 7 g v A sz WO T

;;15&' ilﬁh-icity bills of twenty households in a Iocality are 55 follows :
215, 525, 275, 815, 720, 1085, 717, 807, 780, 315, 380, 417, 425, 375 223 245 S

Construct a frequency distribution table with class size 100

fﬁwmmﬁznf&mﬁ%l 12 faenffdl ®1 MOT 3y 15w qur v g Freiin A -
'ﬂTEESEﬁi‘lmafaﬂﬁﬂﬁﬁmﬁiﬁaﬁmmﬂlﬂmaﬁﬁmr

There are 20 st '
udents in a drama class. The mean a i
all ge of 12 sty
mean age of remaining 8 students is 23 yrs. Find the mean age gi?gflssifu:ign{':ai;saag?'

class.
@ue-g / SECTION-D

T HEA 21 431 F g 4 97% E
Question numbers 21 to 31 carry four marks each.

= {22 wra &, & o ot e o, b 3 ¢ b weiE gy
ford ¢ & w3 2 x+y=0, x—y=0 3N y=2 (W& ®
Y

¥
&1 7¢ HHIETON I TEIST a, b 3R e § T i EERcciciicaiE gt e o RV R oRe
Equation of three lines a, b and ¢ in the following graph are x+y=0, x —y=0 and y=2(

not be written in an order).
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(i) ina :
. ge grou
(Iv)  undersg l_,,f: f::" 53 years,

M T A 7w yoy oy ﬁ;eﬁgg w3ual to 34 years
Wﬁﬁmﬁmﬁﬂ‘f\ﬁt‘fmﬁl T Sfrens o us

16,235 12,5, 8
F ey L f4l 8.
.lﬂ, 3,4,12,2, 8,15, 1, 17, 6,

= 5 A% afy
: AR | . ;
RT3 T3 i W 590 F T AR F T TF wwawn v

fﬁ%ﬁﬂmﬁzsﬂé%mg@%m}

Thirty children v, :
ere
Previous wepl: The r;‘;;d“lbout the number of hours they watched TV programs ir
% 1? ﬁ.ﬂ 2}' 3r 5{ ]2; 5; B; 4; B_p rE found as fOHI‘.‘IWS '
10,3, 4,12 2,8 15, 1,178
u3‘;.21815‘,g,6f3’3"-14 12 r
M&keagmu‘ cd f : S
class 'Lnterval.{;} as ﬁ%”“{j}g g?;rlh:_tiﬂn table for this data, taking class width 5 and one ¢
How : T W Nistogram,
many children waiched te;ﬂ"fﬁiﬂngfnr 15 or more hours a week ?

WUS-3/SECTION-£ (% UT3 [Open T
_ pen Text)
(Wﬁﬁﬁﬂmﬁﬁ?mﬁﬁf“qaﬂwmqﬂ TH YETH & WY we )

*Pl
(* Please ensure that ;Pm fext of the given theme is supplied with this question paper.)
I angEwE | g, 49€ a9
Theme : Quadrilateral in Architecture, W
e dritate ure, WAH TAJ.
AABC (Tod 3f@), gemail Be, Ac 3K ap = -3 F9: 0, e R F €1 9% AB=4D1

40m AR BC=50m ¥, & TueE FeCE T A T wifag)

5 fia 3'_'-! '",--_.-"'" Lo =i
s 8
3 v w— A _I__—-»-- R :I ]

F oo : §
J,,_l T ; r b i

= e 1o e e B =
[ LA e N
M e |
I L g PRl AR B! { i
A AT A i

AABC (see figure), mid-points of sides BC, ACand AB are D, E and F respectively. If AB=AC,

AC= 40 m and BC=50 m find perimile of tropesuim FBCE,
gft ¥ ABCD U@ amgw &1 sl AB,BC, CD W DA % We-fiig wuw: P, QR 3

w7 fiF APCR R PBRD wHiE g ¥ .
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In the figure ABCD is a rectangle. Let P, Q R and S are mig.po of AB, BC, CD and DA 1l
; an respecth

Show that APCR and PBRD are parallelogram.
faw u fi H AABC ., STSiH BC,CA 3 AB 3 Wo-fig v pE ok ¢ 81 fug &

fF AD 3R EF UF Tt =1 qafgaifsd @ 1

s BC, CA and AB respectively.

In the given figure of AABC, D, E and F are mid-points of side
AD and EF bisect each other.

-0 pdolo
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